UNIVERSITY OF REGINA
DEPARTMENT OF MATHEMATICS & STATISTICS
Mathematics 217-040

Midterm Examination
Spring 2013

Time: 75 Min. NAME:
Instructor: Bahman Ahmadi STUDENT NO.:

This exam consists of 4 problems. Show all your work and explain your
answers. The examination will be graded out of a total of 30 points.

(5 marks) 1. Solve the given differential equation by the method of undetermined coefficients.
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(10 marks) 2. Solve the given differential equation by the method of variation of parameters.

ym + yl =tanx
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(5 marks) 3. Solve the given differential equation by using the substitution u = /.
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(10 marks) 4. Solve the following IVP using the Laplace transform.

y —dy +ay=1t'e",  y(0)=0, y(0)=1
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